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ENGLISH

Based on your reading of the chapter — Can we change this?, Share
your opinion about the untouchable practice followed in the chapter.

Look at the points mentioned below and share your ideas.

What can't | do now? How do I think or feel about it?
Actions Pain
Experience Goal
What have | already tried? What do | want to do?
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MATHS
CHAPTER: CUBES AND CUBE ROOTS

Q-1) The one’s digit of the cube of 53 is:

A9

B.3

C.7

D.1

2. The prime factorisation of 64 is:

A.2x2x2

B.4x4x4

C.8x8x8

D. None of the above

Q-3) Which of the following is not a perfect cube?
A. 216

B. 1000

C. 243

D. 1331

Q-4) By what number should 81 be divided to get a perfect cube?
A.3

B.6



C.7

D.9

Q-5) By what number should we divide 135 to get a perfect cube?
A. 3

B.5

C.7

D.9

Q-6) Cube root of 512 is:
A4

B.6

C.8

D. 12

Q-7) A perfect cube of a number having 0 at its unit place, ends with __ zeros.
Al

B.2

C.3

D.4

Q-8) Cube root of 15625 is:
A.5

B. 15

C.25

D. 35

Q-9) The value of 43\/ 1000 is
A. 400

B. 40

C.10

D.4

3729
Q-10) The value of [—— is:
125

A.5/9
B. 9/5
C. 27/25



D. 25/27

SCIENCE

CHAPTER FRICTION

1.1f we apply oil on door hinges, the friction will
(a) increase

(b) decrease

(c) disappear altogether

(d) will remain unchanged

2. Lubricant

(@) reduce friction

(b) increase friction

(c) both (a) and (b)

(d) none of these

3.Force of friction depends on
(a) roughness of surface

(b) smoothness of surface

(c) inclination of surface

(d) all of these

4. Force of friction depends on



(a) roughness of surface

(b) weight

(c) size

(d) all of these

5. Fluids are

(@) liquids

(b) gases

(c) both (a) and (b)

(d) none of these

6. Which is a streamlined object?
(a) Boats

(b) Aeroplanes

(c) Ships

(d) All of these

7.Smooth surface has

(@) less friction

(b) more friction

(c) sometimes less and sometimes more
(d) all of these

8. Which of the following is responsible for wearing out of bicycle tyres?



(a) Muscular force

(b) Magnetic force

(c) Frictional force

(d) Electrostatic force

9. It is difficult to walk on an oily floor because
(a) Floor gets spoiled

(b) There is more resistance

(c) Force of friction is high

(d) Force of friction is very less

10. Spring balance is a device used for measuring the
(a) mass

(b) pressure

(c) force

(d) None of the above

acting on an object.
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SOCIAL STUDIES

Understanding Laws(Worksheet)

Choose the correct answer:

Question 1.

When did Jallianwala Bagh’s massacre take place?
(a) 13 April

(b) 13 March

(c) 13 May

(d) 13 June

Question 2.

Where is Jallianwala Bagh located?
(a) Amritsar

(b) Delhi

(c) Agra

(d) Dehradun

Question 3.

When did the Rowlatt Act come into effect?
() On 10th February, 1917

(b) On 10th January, 1918

(c) On 10th March, 1919

(d) On 20th April, 1920

Question 4.

Who gave the order to fire in Jallianwala Bagh on innocent people protesting calmly?
(a) General Dyer

(b) Dr. Satyapal

(c) Dr. Saifuddin Kichlew

(d) None of these

Question 5.

What is the violence free relationship where husband and wife are equal with each other and they enjoy
equal rights?

(a) Equal relationship

(b) Discriminated relationship

(c) Evolution

(d) All of these

Question 6.

Law on Domestic Violence was made in this year
(a) 2005

(b) 2006

(c) 2007

(d) 2008



Question 7.

Who was the Afro-American woman who refused to give her seat to a white man in 1955?
() Rosy Peter

(b) Rosa Parks

(c) Rosymary

(d) Rose Jose

Match the following:

Column A Column B

(i) Disapprove of a Person or
(a) Domestic Violence
thing

(b) Colonies (ii) Guilty of criminal offense

(iii) Quarrel between
(c) Convict
Husband and Wife

(iv) Country under Foreign
(d) Criticise
Ryles
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